Ex 454 Solve

Los
A f [e* - (q‘—u4Lt-1x)\sz
abe °

So (. We V\nala, Wit ‘hlﬁ‘—

N N
N Lz(&4m[)

{63-2#4-‘0{,-3“ : albek} -

a,be®
= vedor  spaa g;h L«} ¢ tH ,
= Span Q-H/ 8_3*> =:U
To wmn ||e,‘*-(q€3'b€)|lL N P
a,beR ¢ welU -

f
So, U c\bké, the sl o{ thes {:L
Wled LL ° :TI-U f
Becanse we th'{' hav ¢ )’ J o «FDY‘VNAJQ .(OP

W, v ded fhe ol teaig the  po
an or&:noaua/ (,G.lc,, JFL “

-—f 1 . r . .Y N a . [ I S



a£-2x4L£—3X)|L Ax
(R

X
1 (Q - a By -IX
F 1R — bal ¢ -be )
Yo a4 -4 2 _ éx
- G +a e + b e
0

- 3X _ -5
ctae ¥ o2b e 1 2ab @ x)o\x

1 —k X= 40
{-\gx dx = [ b= ) - /L
-k X =0 k |
k o
_ e b
= grE ot -le 2 2
3 q 5 ~
Ve @n e Tha \
&t‘)‘ oo, \:(QJ\D) = 4 o /
Ono. W 'fh'a\rv ﬂ\w S/ bef\na Fe €>\/ ?

= (eierdtrass) 3 glebl win for F
GL) © T@Eb) < FEb) L
Wa,b)e R

%= per® 9+ (R) = "



Yo ped (974

) &) = ¢"
bﬁ_r f/m\D 2_",( %3 ) P?—
SRS ‘DL ) '§'Zf’°‘”3 - 4Z‘r?{"h‘v\a

‘)“'9—‘%"2_19. - 0
UF = 0 & <2 :
b 9

%Luz‘./l*' a=o




&

We will  velurn  on thes 1—‘3{" of \>55 after Gome
kemarks  an D\"H\o‘aoha\ pro) Let's  fivet efrech
fuis  conctpl

Thet Let H b [ Voert gow, UCh be

o closed /\u‘o;\ma of H. Then,

IS 'Fer_\_)( ‘V’(GH 3‘«_|TU_C eU

1 - 0 = min U6 -l
V\GU

<£~Wuff,u> -0 VueU.
rﬁe =TTU¥ +(1['T‘—u1()

~ 10 .J

C)ro\la\ra' : SFM <€n? neJ J' C Nl () orthonorml

ve C\'of‘s

{. gj_tfke € Hl (Qn,e"\;:&hh

v



2 H < 4a

key
rl(‘ VCC\—orS Ve are okh.oﬁam‘ ka Conv th H
X

N Z
2 vl <4,

Tho

T\—U:ﬁ = Z <f)eh)e,h
ned

M. Frest T\_U{GU = T‘-Utz z ‘(kck
€0" satab e (Fk) CTR . Now lecamse

<‘£-1Tm[/"‘> = QO VMGU
J

<E—T|'Uf,eu>:.0 Vked
I

(£1a1\.> - <T‘-U'F) e.> =%

e~
< 2 _(kq k Ch,>
ke

"
Q'm 7

-f I'a d't



= TR;I=Z<1('C‘!>ZI;. &

ket
Coro“'avi: (fcs“ ~fa~ ortho ormal Lm(,s)
et H ‘DL oan Hl“ocrt S‘saa, (%,) be an

ovﬂ\o\aom‘al S\Jslilm o{ w,cl‘ors <Cp, €V 7 gh’w

(ﬁh) |‘S- Q loasc '(0(‘ H e ﬁv. Fc“\a\,,c“} LQUS:
L(i)€n> =0 Vh _ ‘F;—'D (X)

(Froo{ .

————

= H-? (Ch) ortho hotmal ba s¢

T ) holds Tiue.
Supp. <, e,> =0 Yn






Bomple (The  Hor bd se)
_n\(s tVe vt AA ) r) Mo d‘\ (br a bwg 9‘

L‘L( I) TCTRA B an  inkerval
T = (b [“z,Ll]sc- ‘x[“d. Lol]

We  Show He o o T=[(1])

1'-————

1
4V |j—_—
I E—
0 I/L
~V S ——
y q_ .
O' |/“ 1“ '%' L‘/L‘ o —- t ;'
o ket k= k=2
\ ' l = | — A{
. | ase\
P A VY k 2“
L3 = 29—,
2" 2"



Q A |
TR
|
—vj‘/—Jﬁ _
2
\«Lu.ve \Y (s ' 'x\ L
toco \3, ‘\ J““z_l
|
1 =
N P L S TR vo22
[ Z'L Zn-l -
-1 |
n-
) = +2 T Ay g = 27
2 2] + Y¥e
Z"’z"} [2%""’ %J
h-l
]"0)1)° ,y 2 =1
nw - |’-‘\
S, =1
Thwm: :
—_ (tjln) R=O0 — — v {ea)o'} £ n Ovu\o\nor
. n1d :
130-~-2 1 sl base

{Or L2 ([0/\]) )



’EN_O{I \,J <

?mvtd “ Q)} " l\ = | ‘VI ),

<eivy CGin> =9 Vg
VVL-:M )#4'
For C)QW\"L(, /\\ en )< ¢

= \#i
5%-'-_%\

kf\m n

= mi) ¢,
> { ’W
™ =
—l—v




‘ro cke c\< (" ) ) N ¥ 'aaﬂ', ﬁMPFOSL
Tow FC‘J (Co/l])

)
1 4
' "
v - Ip {:ei;“ = f { c)v“
— — —2.L’ .
— 2 4
0 2 | A ' e -t nt
¢ (%) 4 4.6
\ i
A \||/
¢l
%
- jzﬁ
(Lh
W
\—q—-@aﬁ’—s 1
0 \/M a
1"
2] ¢
_74’_
L r |
g+
o \
2“3{. = L_(: -0 &— (<£) 80/07 -‘-O)
= )



P

l]( 0 Vl\(/l» Yn

/

h
n

'y

)

= f ‘.f:o I:l:a,L] R,‘o d}o‘»\c

< / humlers
ke h
2" PR

= IL{:O V a}\oé(_-o,‘j

o

5 [p=0 VYEcl]) wes
E

o [0 se o [

o b ond Bl by dewty td. @

Ex_ 453 Sohe
z
Miw J |13+0\X2-+lox4c| dx
a,b'LeTK -1

sl Lt A= U(EYT)
(f,“}? < I‘ ;f% A)(

I l 1 A - -+ | J R (.‘({—r n EM’"G



4 Y

H s &n H\“a AFace_, _nu rL, [ohffd—s m ﬁhd\}hi

-
wi  Ix0 2 (axs bx sl
ab,C N

7 L
- n “ X - & “2

u€ Spon <1, %, x°)

Ona S?Dn (l/x)xz} = 1U B (JDchl} the sol o)[

It ckar Hot 4, 2l e i I‘Mol.c‘)
( ax*tbxrxc 20 ae =2 abc :O)

= Sfa"“”""‘? hos  dim 3.
Un‘Cor’(uhq\Jw} (Lx,x) 18 ot e, an ertho

V'-”rw\Q‘ L)&St ’ !

1 Ilﬂ\li - J 111" dx = 2
d
= I Qa um’\' \/(,d' I L'L
\Z
4
¢ ‘
A
- = dx = O
' (')L)jd_%)‘} J' 7 X



e
N
R
)
(-]
\V/
(B
—_—
%
~

xR

A

N/

\
—_—
Rl\l
so| Sl
x

1]
Mw\
S—

8«)

/

L
: e
How do We ac\]v\s{' X +0(XLE L e,

]
Spe < K HLFEE, X 1) = Span < xx>
Ind w3
< Y +a(w4‘5 ) - O

(x’.&.dy4 6, \[—_%‘,(7 =0

v
@ LJ"L‘\' ijxdx-t.@_fz] .o
n-‘ G“" Z-'l
] 9
3
2 &
30
n
/3



-lx 4 Z \
) ”
9 0
=0
VoL e, ¢,
l \
z 4 t 4
= I (X2 _\/_s) d\x = {‘()( - =X .r§>
- -
5 3\
:2[ L *Lﬂ
S ‘o 3 3 B J
{
2L _z 4L
S 9 43
_VY
- 4 _3 4
s -
(5 (<-4
(eo/€1,€1> S an Qv“\'\\.o..\nor\m‘)‘ ‘OQJ& !oV‘
2 . |

1 2

"\

)=° (!
:(J\‘kz- Al) . L +Q+’*@m)\gx






